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Average velocity and Instantaneous Velocity
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Problem- 01
/74

— — ~
O Thelequation of motion jof a body is, s= 3t*ms™? + 4tms™! g (b) - 3t +4T
i.  Whatis the velocity att = 2 sec?

|| What is the gccelgration att=2 sec?];(\& eng '\“O\YLC.GWS
iii. s acceleration uniform ?
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Poll- 01
W /e

The[displacemenﬂx of a particle moving in one dimension is related to the time t by the
equatjen , t = \/x + 3. Find the time when its velocity is zero.
L PR,V aan

b) 6s
c) 8s
d) None of above
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Equations for Linear Motion
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For uniform velocity, O\—= O
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Practice Problem
i A —~<f .
U The speed of a train is reduced from 20m/s to 10m/s whilst it travels a distance g
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Problem
e

O A bullet penetrates a piece of wootravelling in a straight line at a velocity

of 200ms~1. What would be the exit velocity if the wood was 42cm thick?
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O

Problem
V724

O A body travels 30m in the first two seconds and 120m in the next three seconds . What

will be the velocity at the end of seventh second from the start ? g

e, = \
ffne‘i’ two Ssecomds, S o
¢ utj_+J_O\'tZ %owk—b. | — A20
| = 2_ o/ ) O O \ °
& 30 = UXZ 4L xax &) “ o
2 5 62..

:ti 20 = Au + L --—-6) ‘ Aol dﬁl;-%uwec i

Ilfwe, e,econdsy

:ﬁng\—

A
@ﬁs}@: UK IR ’\IALXGOQ (brt+2)

> %

U553

¥

v

50\%% e 350 —J:‘U

-2 |

= 4,46, = V20"
Jotd Hme =4 xv, =55

Physics 1t Paper
Chapter 03 : Dynamics

u,--ﬁms"i] o= Oms T \)‘:\L'ko*t =+ 40%F

i

=75 ms' (Answe

)























































ANNN

Falling Bodies
Y/ /4

15t Formula :All free falling objects initially at rest
dropped from the same height and same time will
cover the same distance .

GFTEE @GS R

© Jim Sugar/CORBIS

Physics 15t Paper
Chapter 03 : Dynamics





proportional to the elapsed time.
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Falling Bodies
VA
2" Formula :The velocity of a free falling object initially at rest will be
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Falling Bodies
Y/ /4

39 Formula :An initially stationary object which is allowed to fall freely under
gravity falls a distance proportional to the square of the elapsed time. .
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Problem

Vi

ball is thrown vertically upwards from the ground W|th a veI00|ty of 100m/s.
When will it be 10 m above the ground’?
b) When will it return to ground ?
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Continued
N e

EI A ball is thrown vertically upwards from the grou W|th a velocity of 100 m/s.
hen will it return to the ground ?

When will it return to ground ? T‘
ow high will it go? \bo""‘" m c&
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A% d\d\‘%\,\b Problem
W : V7 4

O Aball is thrown vertically upwards from the top of 50 m high tower with a velocity of
100m/s. When will it return to the ground ?
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Problem
e
O Aball is thrown verticallyfdownwards from the top of 50 m high tower with a velocity of
100 m/s. When will it returi 10 round ?
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Poll-02
W /e

A stone of dropped freely from the top of a 100 m high tower. At the same instant another
stone is dropped freely from the top of 80m high tower. When later mention stoned hits the

that is the height of first stone from the ground ?
Om

b) 60 m T
c) 50 m oV

d) 80m ¢ X
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Practice Problem(HW)
V4

O A bullet loses one-third of its velocity after penetrating 50 cm into a wood plank. How
far will it go before coming to rest ?
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Practice Problem(HW)
V4

O Acar Ais travelling on a straight level road with a uniform speed of 20m/s. It is followed
by another car B which is moving with a speed of 10m/s with acceleration of 5Sm/s. After
what distance and time will B catch up with A?
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